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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following: o '-1><8=.8 ,"

(a) D1st1nguxsh between prlmary data and
secondary data.

i © W (T SR #AId B

(b) Give an example of a study where
complete enumeratlon cannot be
undertaken. :
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What measure of |
central t
used to calculate the HDI Dendency is
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Define economlc growth: of country
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Give an examp
System participant,
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. (Write true of false)
Rt w"as T @ ORYE s Al

le of an Informal financial |
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2.  Answer any six from the followmg

- questions:. . 2x6=12
SR [P A AN %@ forat ¢
- (a) Distinguish between a parameter and
a statistic.
T S “2libere sl Bl

(b) How is the median calculated fdr a
- continuous series ?

aﬁwﬁfﬁﬁaﬁﬁﬂwmﬁmw’@?

(c) Why .is index numbers said to be
economic barometer ?

5% RIS R R B T 3 GRIe

(d) Define . the term ‘sustainable

- development’ as under the Brundtland

Report. -

' ‘Brundtland Report 8 AARB WW
YRR Tl faal |

(e) Mention two -demerits of per capita
income as a tool of measuring'
development of a country.

Q4 (PR BRI TS fismmsﬁwi
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- () What were the three basic indicators of
human development beforé 2010 ?

2010 I ¥ =R THTR I T o6 &
oifes 2
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What is a financial systern ?

"
.. system.

: ﬁ%wﬁwan

State the ‘components of a ﬁnan(nal

Define GDP.

'GDP—%WWI

Differentiate between labour force
" participation rates and workforce

partlc1pat10n rates.
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. Answer any four'fro_rri the fbllowing‘:
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-of central tenden
A contractor employ

.5%4=20

-State one advantage and one limitation
of the arithmetic

s three types of

workers—skllled semi-skilled and

unskilled. To g sk111
Rs. 500 per day,

worker Rs. 400 p
urntskilled worker. R
a typical day, if the
15 skilled, 20 se
unskilled workers

daﬂy wage paid

to a semi-skilled
€r day and to an
s. 300 per day. On
contractor employs
mi- -skilled and 10
find out the average
by the contractor.

mean as a measure

ed worker, he pays |

2+3=5

(b)
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Discuss the steps of construction of -
consumer price index number.
mwwﬂmawwwwm :
901 v

State two hmltatlons of pnce 1ndex
number

Calculate price index number for 2020
from -the following data: 2+3=5

| . VROPE AR 75 el Bl S 99

sfal 2020-4 V& IS WA A 4 3',

Commodities - .-  Price/™

i Rs. per unit/53 AfSTHIS
2010 2020
100 15
20 . 25
S0 . 60
40 S0
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(d) What are the core Velues of economic
- development"> ' '

Wﬁﬁﬂ%wiﬂlw%?

(e) ~.Br1ef1y discuss " the essentlal:

components of human development

~wwmwmmﬂnwl ~

‘ () Discuss the role of Purchasmg Power
Parity (PPP) in international finance,

T RS s TR T (PPP)-
a‘@ﬁ?ﬂ Jr all
(g9 How do banks make- proﬁts ? Discuss.

wmm%‘mﬁm?mw|

(h) What are the causes respons1ble for
the unfavourable sex ratio in Indla’P

mewﬂmmwﬁsﬁw
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. 4. Answer any two from.the;foliowing

. questions: - © o 10%2=20
O RS AR ﬁzasrmr ;fm“w fera s

‘v (a) ‘Discuss the steps in a sample survey.
Elaborate on the’ stratified random
sampling method using suitable

. example. . . ' 5+5= 10
- efomf WWWW%@W«
TS TI@ Ao Ao TR el <=1
(b) What are the different measnres of
dispersion ?. _ - 2+8=10
Calculate standard dev1at10n from the
following date:
ﬁm«ﬁﬁmmﬁs%?wwﬁw ‘.
AR e ool ¢

Proﬁt(Rs Lakhs) 0-10 10-20 20-30 30- 40 40- S0 50 -60

s (7R 7o)

No.of Companies: 12 . 17 23 39 16 03

@™ T

(¢ Explain how Human Development
Index is measured in India.
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) Dis_euss the functions of a financial
system. ) )

Rém ey SRR o =

. (e) Discuss the main features of the Indian

- economy that indicate the low state of
development in the courtry despite the

- impressive growth rates espemally in

the last decade
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